Times Tables Tests
Term 3




Times Tables Test 1 Times Tables Test 2

1 2 3 4 1 2 3 4
Calculate: Calculate:

5. 12 x12 = M. 15+4= 5. 20x12 = M. 23+4=

6. 6% = 12. 36 +5 = 6. 3= 12. 41+5=

7. 13x9 = 13. 12+ 8= 7. 13 x4 = 13. 19+ 8=

8. 1°= 14. 18 + 4 = 8. 5= 14, 22 + 4 =

9. 16 x10 = 15. 84 +10 = 9. 72 x100 = 15. 245 +10 =
10. 0.65 x 100 = 16. 36 + 100 = 10. 0.7 x100 = 16. 7309 + 100 =
Complete these calculations Complete these calculations

17. 15 x =60 18. 30+ =3r3 17. 13 =91 18. 37+ = 6r1
19. Tickets to a theatre show cost £15.50 each. 1000 tickets 19. Sam loves to play on his xbox. He buys 3 new games which

are sold on one evening. How much did the theatre make cost £26 each. How much does he spend on xbox games?

that evening?

20. Grandad Jim wants to share £8745 between his 10
20. 250 rubbers are shared between 10 classes at St. John's grandchildren. How much will each grandchild receive?
school. How many rubbers do each class get?
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Times Tables Test 3 Times Tables Test 4

1 2 3 4, 1 2 3 4
Calculate: Calculate:

5. 30x7-= N 17 +4= 5. 30x 6= M. 31+3=

6. 7° = 12. 26 + 5= 6. 4= 12. 50+ 7=

7. 15x2 = 13. 26 + 8= 7. 14 x 8= 13. 65+8=

8. 3= 14. 39 + 4 = 8. 23= 14. 19 + 4 =

9. 64 x10 = 15. 64 +10 = 9. 098 x100= 15. 82 +100 =
10. 12 x100 = 16. 276 + 100 = 10. 560 x 10 = 16. 3472 +10 =
Complete these calculations Complete these calculations

17. 21 % =84 18. 45+ = 5r5 17. 30 x =150 18. 28 + = brk
19. A cake recipe that serves 4 people requires 125g of flour. 19. 180 people buy 5 raffle tickets each. How many raffle tickets

How many grams of flour is required to make an extra- were sold?

large cake for 40 people?

20. A square room is 25m? What is the length of each side of the
20. 8 children are attending Hannah's party. Hannah's mum room?
has 50 stickers to share equally between each guest. How

many stickers will be left over?
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Times Tables Test 5

1. 2 3. 4
Calculate:

5. 20x11 = M. 28+3=

6. 8= 12. 16 + 7=

7 13 x3= 13. 20+ 8 =

8. 4= 14, 32+6=

9. 66 x10 = 15. 390 +10 =

10. 320 x 100 = 16. 7832 + 100 =

Complete these calculations

17.

19.

20.

x 6 =132 18. 25+ = 3r4

Jessica works for nine 16-hour shifts in a fortnight. How many

hours will she have worked at the end of her last shift?

Harry has £124 to spend on 10 family members. If he spends the

same amount on each person, how much will he spend on them?

Times Tables Tests

Times Tables Test 6

1. 2 3. 4
Calculate:

5. 40x 8 = 11. 37+ 3 =

6. 10? = 12. 44 +7 =

7. 18x 2= 13. 50+ 8 =

8. 53= 14, 56 + 6 =

9. 10x50= 15. 0.3 +10 =

10. 7.2 x 100 = 16. 5487 + 1000 =

Complete these calculations

17.

19.

20.

x 9 =135 18. 16 =+ =3rl

Shelves can fit 9 books on them. How many shelves will be needed
to fit 30 books?

In an exercise class, ladies spend 40 seconds sprinting on the spot.
They do this 22 times altogether. How many seconds do they spend
sprinting on the spot in total?
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Times Tables Test 7

1. 2 3. 4
Calculate:

5. 18 x3 = M. 31+3=

6. 122= 12. 30+7=

7 22x4= 13. 58 + 8 =

8. 10%= 14, 59+ 6=

9. 20 x50 = 15. 263 +100 =

10. 85 x100 = 16. 23678 + 1000 =

Complete these calculations

17.

x 40 = 2400 18. 50 = =12r2

19. John earns £9.86 an hour working at the local

supermarket. How much money does he earn on a 10-hour

shift?

20. Anna types a letter which has 3400 words. She can type

100 words per minute. How long did it take Anna to write

her letter?

Times Tables Tests

Times Tables Test 8

Calculate:

5.
6.
7.
8.
9.
10.

22x9 =

M. 45=+7-=

17 =

12. 65+6=

15 x12 =

13. 73+8=

6° =

14, 27+ 6=

40 x 70 =

15. 40 000 + 200 =

100 x 120 =

16. 829 +100 =

Complete these calculations

17.

19.

20.

x7 =168 18. 152 +

=512

78 people are given 5 roast potatoes each at a wedding

meal. How many roast potatoes are served in total?

money will be taken off the jumper?

A jumper costs £28.80 There is a 10% sale. How much
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Times Tables Test 9 Times Tables Test 10

1 2 3 4 1 2 3 4
Calculate: Calculate:
5. 18 x5 = M. 43 +8= 5. 36 x5 = M. 15+7=
6. 9= 12. 41+6 = 6. 22x 32 = 12. 57+6=
7. 23x6= 13. 25+4 = 7. 80x6= 13. 121+ 4 =
8. 7i= 14, 27+ 5= 8. 8= 14, 125+ 5=
9. 90 x30 = 15. 6000 + 20 = 9. 25x30 = 15. 330+ 11 =
10. 300 x 70 = 16. 6659 + 10 = 10. 60 x 12 = 16. 809 +100 =
Complete these calculations Complete these calculations
17. x 8 =208 18. 800 = =40 17. x 200 =3000 18. 630 = =7
19. 600 bottles of shampoo are packed into 20 boxes. How 19. Dressmakers can sew 4 dresses per hour. How many dresses
many bottles of shampoo are in each box? are made in total by 6 dressmakers in 5 hours?
20. The government gives parents of new born babies £120. 20. 3600 books are packed into 100 boxes. How many books
1000 babies are born in September. How much money does are in 4 boxes?

the government give out to new parents?
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Times Tables Test 11 Times Tables Test 12

1 2 3 4 1 2 3 4
Calculate: Calculate:
5. 28 x4 = M. 31+3= 5. 50x80 = 11. 73 + 12 =
6. 52x 2?2 = 12. 45+ 6= 6. 62x32= 12. 51+ 6=
7. 60x 8= 13. 50+ 4= 7. 90 x 8 = 13. 23 + 4 =
8. 93= 14. 300+ 5= 8. 113 = 14. 2700 + 30 =
9. 30x70 = 15. 999 + 3 = 9. 40x90 = 15. 1500 + 3 =
10. 45x12 = 16. 480 + 5= 10. 66 x 12 = 16. 6000 + 120 =
Complete these calculations Complete these calculations
17. x 70 =4900 18. 1000 + =40 17. x 800 = 48000 18. 2000 + = 500
19. 30 bikes are sold for £105. How much did the bike shop 19. A hair salon has an offer of a 30-minute head massage for
make in total? £12. If 10 people have a 1-hour head massage, how much

money will the salon make?

20. A bride wants to give each of her 100 guests a chocolate
shaped heart as a wedding favour. The chocolates cost 20. Duvets take 3 minutes to dry in an industrial tumble dryer.
0.99p each. How much does she spend on wedding favours How many duvets can be dried in two hours?
if she gives them 3 chocolates each?
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Notes
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